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DISCOUNT [ cV~Vk ]

1. A dealer offers a discount of 10% on the
marked price of an article and still makes a
profit of 20%. If its marked price is Rs. 800,
then the cost price of the article is ?

,d O;kikjh ,d oLrq ds vafdr ewY; ij 10% dh NwV nsus
ds ckn Hkh 20% dk ykHk dekrk gSA ;fn oLrq dk vafdr
ewY; :i;s 800 gS] rks oLrq dk Ø; ewY; Kkr dhft, ?

(a) Rs. 900 (b) Rs. 800
(c) Rs. 700 (d) Rs. 600

2. The marked price of an article is Rs. 200. A
discount of 12½% is allowed on the marked
price and a profit of 25% is made. The cost
price of the article is ?

,d oLrq dk vafdr ewY; :i;s 200 gS] rks vafdr ewY; ij
12½% dh NwV nsus ds ckn Hkh 25% ykHk izkIr gksrk gS] rks
oLrq dk Ø; ewY; D;k gS ?
(a) Rs. 200 (b) Rs. 175
(c) Rs. 120 (d) Rs. 140

3. A shopkeeper earns a profit of 10% after
allowing a discount o 20% on the marked
price. The cost price of the article whose
marked price is Rs. 880, is ?

,d nqdkunkj ,d oLrq ds vafdr ewY; ij 20% dh NwV nsus
ds ckn Hkh 10% dk ykHk dekrk gSA ml oLrq dk Ø; ewY;
D;k gksxk ftldk vafdr ewY; :i;s 880 gS ?
(a) Rs. 704 (b) Rs. 640
(c) Rs. 774 (d) Rs. 680

4. A fan is listed at Rs. 1,500 and a discount of
20% is offered on the list price. What
additional discount must be offered to the
customer now to bring the net price to Rs.
1104 ?

,d ia[ksa dk vafdr ewY; :i;s 1,500 gS vkSj vafdr ewY;
ij 20% dh NwV nh tkrh gSA rks xzkgd dks :i;s 1104 esa
[kjhnus ds fy, blds vfrfjDr dkSu&lh NwV nh tkrh gS ?
(a) 8% (b) 10%
(c) 15% (d) 12%

5. The marked price of an article is Rs. 500. It
sold at successive discounts of 20% and 10%.
The selling price of the article (in rupees) is
?

fdlh oLrq dk vafdr ewY; :i;s 500 gSA bls nks Øekxr
NwVsa Øe'k% 20% vkSj 10% nsdj cspk tkrk gSA rks oLrq dk

foØ; ewY; D;k gS ?
(a) Rs. 350 (b) Rs. 375
(c) Rs. 360 (d) Rs. 400

6. Applied to a bill for Rs. 1,00,000 the
difference between a discount of 40% and
two successive discounts of 36% and 4% is
?

:i;s 1,00,000 dh jkf'k ij nks rjg ds cV~Vs] ftuesa ,d
cV~Vk 40% gS vkSj nwljk cV~Vk nks Øe'k% 36% rFkk 4% gSA
nksuksa rjg ds cV~Vs esa fdruk vUrj gS ?
(a) Nil (b) Rs. 1,440
(c) Rs. 2,500 (d) Rs. 4,000

7. Successive discounts of 10% and 30% are
equivalent to a single discount of ?

nks Øeokj cV~Vs 10% vkSj 30% fdl ,d cV~Vs ds cjkcj
gS ?
(a) 40% (b) 35%
(c) 38% (d) 37%

8. A tradesman marks his goods 10% above his
cost price. If he allows his customers 10%
discount on the marked price, how much
profit or loss does he make, if any ?

,d O;kikjh vius lkeku ij Ø; ewY; ls 10% vf/d
vafdr djrk gSA ;fn og vius xzkgd dks vafdr ewY; ij
10% dh NwV nsrk gS] rks bl izdkj og O;kikjh fdrus
izfr'kr ykHk ;k gkfu izkIr djsxk ?

(a) 1% gain (b) 1% loss
(c) 5% gain (d) No gain no loss

9. A trademan marks his goods at 20% above
the cost price. He allows his customers a
discount of 8% on marked price. Find out
the profit percent ?

,d O;kikjh vius lkeku ij Ø; ewY; ls 20% vf/d
vafdr djrk gSA og vius xzkgdksa dks vafdr ewY; ij 8%

dh NwV nsrk gS] rks mldk ykHk izfr'kr crk,a ?
(a) 12% (b) 10.4%
(c) 16% (d) 20%

10. A discount of 2½% is given to the customer
on the marked price of an article. A man
bought the article for Rs. 39. The marked
price of the article is ?

,d xzkgd dks ,d lkeku ds vafdr ewY; ij 2½% dh NwV
nh tkrh gSA og xzkgd :i;s 39 esa bl lkeku dks [kjhnrk
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gS] rks bl lkeku dk vafdr ewY; Kkr dhft, ?

(a) Rs. 42 (b) Rs. 36.50
(c) Rs. 40 (d) Rs. 41.50

11. The printed price of an article is Rs. 900 but
the retailer gets a discount of 40%. He sells
the article for Rs. 900. Retailer's gain per cent
is ?

,d oLrq dk vafdr ewY; :i;s 900 gS] ijUrq ,d [kqnjk
O;kikjh bl ij 40% dk cV~Vk izkIr djrk gS vkSj bls [kqnjk
O;kikjh :i;s 900 esa csp nsrk gS] rks crkb, fd O;kikjh dks
fdruk izfr'kr ykHk izkIr gqvk ?
(a) 40% (b) 60%

(c) 66
2

3
% (d) 68

1

3
%

12. A discount of 15% on one article is the same
as discount of 20% on a second article. The
costs of the two articles can be ?

,d oLrq ij 15% dh NwV (cV~Vk)] nqljh oLrq ds 20% dh
NwV (cV~Vs) ds cjkcj gSA rks bu nksuksa oLrqvksa dk Ø; ewY;
Kkr dhft, ?

(a) Rs. 85, Rs. 60 (b) Rs. 60, Rs. 40
(c) Rs. 40, Rs. 20 (d) Rs. 80, Rs. 60

13. The marked price of a watch was Rs. 720/-.
A man bought the same for Rs. 550.80, after
getting two successive discounts, the first
10%. What was the second discount rate ?

,d ?kM+h dk vafdr ewY; :i;s 720 Fkk] ,d vkneh bl
?kM+h dks nks Øekxr cV~Vs] ftuesa ,d cV~Vk 10% Fkk] dk
ykHk izkIr dj :i;s 550.80 esa [kjhnrk gSA rks nwljk cV~Vk
D;k Fkk ?
(a) 12% (b) 14%
(c) 15% (d) 18%

14. A shopkeeper purchased a chair marked at
Rs. 800, at two successive discounts of 10%
and 15% respectively. He spent Rs. 28 on
transportation and sold the chair for Rs. 800.
His gain percent is ?

,d nqdkunkj ,d dqlhZ ftldk vafdr ewY; :i;s 800 gSA
nks Øekxr cV~Vs Øe'k% 10% vkSj 15% ysdj [kjhnrk gSA
og :i;s 28 ;krk;kr ij [kpZ djrk gS vkSj bls :i;s 800

esa csp nsrk gSA mldk ykHk izfr'kr D;k gS ?
(a) 40% (b) 30%
(c) 25% (d) 14%

15. A shopkeeper marks his goods 20% above
cost price, but allows 30% discount for cash.
His net loss is ?

,d nqdkunkj vius lkeku ij Ø; ewY; ls 20% vf/d
vafdr djrk gS] ijUrq og uxn Hkqxrku ij 30% dh NwV
nsrk gS] rks mldh lgh gkfu izfr'kr D;k gS ?

(a) 8% (b) 10%
(c) 16% (d) 20%

16. A retailer buys 40 pens at the marked price
of 36 pens from a wholesaler. If he sells these
pens giving a discount of 1% on the marked
price, what is the profit percent ?

,d [kqnjk O;kikjh] ,d Fkksd foØsrk ls 36 isu ds vafdr
ewY; ij 40 isu [kjhnrk gSA ;fn og bu iSuksa dks vafdr ewY;
ij 1% dh NwV ds lkFk csp nsrk gS] rks mldk ykHk izfr'kr
D;k gS ?
(a) 9% (b) 10%

(c) 10
1

9
% (d) 11%

17. The marked price of a watch is Rs. 1000. A
retailer buys it at Rs. 810 after getting two
successive discounts of 10% and another
rate which is illegible. What is the second
discount rate ?

,d ?kM+h vafdr ewY; :i;s 1000 gSA ,d [kqnjk O;kikjh bls
nks Øekxr% NwV 10% vkSj nwljh vLi"V gS esa xzkgd dks
:i;s 810 esa csprk gSA rks nwljh NwV nj D;k gS ?
(a) 15% (b) 10%
(c) 8% (d) 6.5%

18. Successive discounts of 10% and 20% are
equivalent to a single discount of ?

nks Øekxr cV~Vs (NwV) Øe'k% 10% vkSj 20% fdl ,d
cV~Vs ds cjkcj gS ?
(a) 30% (b) 15%
(c) 28% (d) 12%

19. The equivalent single discount for two
successive discounts of 15% and 10% is ?

nks Øekxr NwV 15% vkSj 10% fdl ,d NwV ds cjkcj gSa
?
(a) 25% (b) 20%
(c) 23.5% (d) 20.85%

20. The list price of a clock is Rs. 160. A customer
buys it for Rs. 122.40 after two successive
discounts. If first discount is 10%, the second
is ?

,d ?kM+h dk lwph ewY; (vafdr ewY;) :i;s 160 gS] ,d
xzkgd bls nks Øekxr% NwV ftlesa ,d 10% gS] izkIr dj
:i;s 122.40 esa [kjhnrk gS] rks nwljh NwV D;k gS ?
(a) 10% (b) 12%
(c) 15% (d) 18%

21. An item is marked for Rs. 240 for sale. If two
successive discounts of 10% and 5% are
allowed on the sale price, the selling price of
the article will be ?

,d oLrq dks cspus ds fy, :i;s 240 vafdr fd;k x;kA
;fn nks Øekxr% NwV Øe'k% 10% vkSj 5% vafdr ewY; ij
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nh tkrh gS] rks oLrq dk foØ; ewY; D;k gksxk ?
(a) Rs. 205.20 (b) Rs. 204
(c) Rs. 34.80 (d) Rs. 36

22. The price of an article is raised by 30% and
then two successive discounts of 10% each
are allowed. Ultimately the price of the article
is ?

,d oLrq dk ewY; 30% c<+k fn;k tkrk gS vkSj mlds ckn
nks Øekxr cV~Vs izR;sd 10% fn;k tkrk gS] rks oLrq dk ewY;
D;k gksxk ?
(a) increased by 10% (b) increased by 5.3%
(c) decreased by 3% (d) decreased by 5.3%

23. A single discount equivalent to the
successive discounts of 10%, 20% and 25%
is ?

rhu Øekxr cV~Vs Øe'k% 10%, 20% vkSj 25% fdl ,d
vdsys cV~Vs ds cjkcj gSa ?
(a) 55% (b) 45%
(c) 46% (d) 60%

24. The discount series 10%, 20%, 40% is
equivalent to a single discount of ?

Øe'k% 10%, 20% rFkk 40% Øekxr% cV~Vs fdl ,d
vdsys cV~Vs ds cjkcj gS ?
(a) 50% (b) 56.8%
(c) 60% (d) 62.28%

25. A trader marked the selling price of an article
at 10% above the cost price. At the time of
selling he allows certain discount and
suffers a loss of 1%. He allowed the discount
of ?

,d O;kikjh oLrq dk vafdr ewY; blds Ø; ewY; ls 10%

vf/d vafdr djrk gSA csprs le; og ,d fuf'pr NwV
nsdj 1% dh gkfu mBkrk gSA rks mldh NwV nj D;k gS ?
(a) 11% (b) 10%
(c) 9% (d) 10.5%

26. A shopkeeper marks his goods 30% above
his cost price but allows a discount of 10%
at the time of sale. His gain is ?

,d nqdkunkj vius lkeku dk vafdr ewY; blds Ø; ewY;
ls 30% vf/d vafdr djrk gS] ijUrq csprs le; og
10% dk cV~Vk nsrk gS] rks mldk ykHk izfr'kr D;k gksxk ?
(a) 21% (b) 20%
(c) 18% (d) 17%

27. By giving a discount of 10% on the marked
price of Rs. 1100 of a cycle, a dealer gains
10%. The cost price of the cycle is ?

:i;s 1100 ewY; okyh ,d lkbfdy ij 10% dh NwV nsus
ds ckn ,d O;kikjh 10% dk ykHk dekrk gS] rks bl oLrq
dk Ø; ewY; D;k gS ?
(a) Rs. 1100 (b) Rs. 900

(c) Rs. 1089 (d) Rs. 891
28. The marked price of an electric iron is Rs.

690. The shopkeeper allows a discount of
10% and gains 8%. If no discount is allowed,
is gain percent would be ?

,d fo|qr bL=kh dk vafdr ewY; :i;s 690 gSA ,d nqdkunkj
bl ij 10% NwV nsus ds ckn] 8% dk ykHk dekrk gS] ;fn
dksbZ Hkh NwV ugha nh tkrh gS] rks mldk ykHk izfr'kr D;k gksxk
?
(a) 20% (b) 24%
(c) 25% (d) 28%

29. A discount of 14% on the marked price of an
article is allowed and then the article is sold
for Rs. 387. The marked price of the article
is ?

,d oLrq ds vafdr ewY; ij 14% dh NwV nsus ds ckn bl
oLrq dks :i;s 387 esa cspk tkrk gSA bl oLrq dk vafdr
ewY; D;k gS ?
(a) Rs. 450 (b) Rs. 427
(c) Rs. 500 (d) Rs. 440

30. A shopkeeper sells his goods at 10% discount
on the marked price. What price should be
mark on an article that cost him Rs. 900 to
gain 10% ?

,d nqdkunkj viuh oLrq ds vafdr ewY; ij 10% dh NwV
nsdj csprk gSA mls ml oLrq dk vafdr ewY; fdruk vafdr
djuk pkfg, ftldk Ø; ewY; :i;s 900 gS] rkfd mls
10% dk ykHk gks ?
(a) Rs. 1275 (b) Rs. 1250
(c) Rs. 1175 (d) Rs. 1100

31. A tradesman gives 4% discount on the
marked price and gives 1 article free for
buying every 15 articles and thus gains 35%.
The marked price is increased above the cost
price by ?

,d O;kikjh oLrq ds vafdr ewY; ij 4% dh NwV nsrk gS vkSj
gj 15 oLrqvksa dh [kjhn ij 1 oLrq eqÝr nsrk gS vkSj 35%

dk ykHk dekrk gS] rks vafdr ewY; dks Ø; ewY; ls fdrus
izfr'kr vf/d vafdr fd;k x;k gS ?
(a) 40% (b) 39%
(c) 50% (d) 20%

32. A sells a scooter priced Rs. 36,000. He gives
a discount of 8% on the first Rs. 20,000 and
5% on the next Rs. 10,000. How much
discount can he affored on the remaining
Rs. 6,000 if he is to get as much as when 7%
discount is allowed on the total ?

,d vkneh ,d LdwVj csprk gS] ftldk ewY; :i;s 36,000

gSA og igys :i;s 20,000 ij 8% dh NwV rFkk vxys
:i;s 10,000 ij 5% dh NwV nsrk gSA mls 'ks"k :i;s
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6,000 ij fdrus izfr'kr NwV nsuh pkfg,] rkfd mls bruh
NwV feys ftruh ml ij 7% dh NwV nsus ij izkIr gksrk gS ?
(a) 5% (b) 6%
(c) 7% (d) 8%

33. A salesman is allowed 5½% commission on
the total sales made by him plus a bonus of
½% on sales over Rs. 10,000. If his total
earnings were Rs. 1,990, his total sales (in
Rupees) was ?

,d lsYlesu dks :i;s 10,000 rd dh fcØh ij 5½%

rFkk mlls mQij dh fcØh ij cksul ds :i esa ½% vf/d
dh deh'ku feyrh gSA ;fn mldh dqy deh'u :i;s
1,990 gS rks mldh fcØh Kkr dhft, ?

(a) Rs. 30,000 (b) Rs. 32,000
(c) Rs. 34,000 (d) Rs. 35,000

34. A housewife saved Rs. 2.50 in buying a dress
on sale. If she spent Rs. 25 for the dress,
approximately how much percent she saved
in the transaction ?

,d ?kjsyw efgyk lsy esa ,d iks'kkd dks [kjhnrs le; :i;s
2.50 cpk ysrh gSA ;fn mlus ml iks'kkd ds fy, :i;s 25

[kpZ fd;s gksa] rks bl iqjs ysu&nsu esa mlus fdrus izfr'kr cpk
fy;k ?
(a) 8% (b) 9%
(c) 10% (d) 11%

35. List price of an article at a show room is Rs.
2,000 and it is being sold at successive
discounts of 20% and 10%, its net selling
price will be ?

,d 'kks:e esa fdlh oLrq dk vafdr ewY; :i;s 2,000 gS
vkSj bls nks Øekxr NwV 20% vkSj 10% ds lkFk cspk tkrk
gS] vc bldk foØ; ewY; D;k gS ?
(a) Rs. 1900 (b) Rs. 1700
(c) Rs. 1440 (d) Rs. 1400

36. The difference between a single discount of
30% on Rs. 550 and two successive discounts
of 20% and 10% on the same amount is ?

:i;s 550 ij ,dek=k cV~Vk 30% vkSj mlh ewY; ij nks
Øekxr NwV 20% vkSj 10% ds lkFk cspk tkrk gSA vc
bld varj ewY; D;k gS ?
(a) Nil (b) Rs. 11
(c) Rs. 22 (d) Rs. 44

37. A trader wishes to gain 20% after allowing
10% discount on the marked price to his
customers. At what percent higher than the
cost price must he mark his goods ?

,d O;kikjh vius xzkgdksa dks 10% NwV nsus ds ckn Hkh 20%

dk ykHk dekuk pkgrk gSA blds fy, mls vius lkeku ds
vafdr ewY; dks mlds Ø; ewY; ls fdrus izfr'kr vf/d

vafdr djuk pkfg, ?

(a) 30% (b) 33
1

3
%

(c) 34
2

3
% (d) 35%

38. In order to maintain the price line a trader
allows a discount fo 10% on the marked price
of an article. However, he still marks a profit
of 17% on the cost price. Had he sold the
article at the marked price, he would have
earned a profit percent of ?

mfpr ewY; cuk, j[kus ds fy,] ,d foØsrk fdlh oLrq ds
vafdr ewY; ij 10% dh NwV nsrk gS] blds ckotwn Hkh] og
Ø; ewY; ij 17% dk ykHk izkIr djrk gSA ;fn mlus bls
vafdr ewY; ij cspk gksrk rks mls fdruk izfr'kr ykHk gksrk
?
(a) 30% (b) 32%
(c) 33% (d) 35%

39. A trader marked the price of his commodity
so as to include a profit of 25%. He allowed
discount of 16% on the marked price. His
actual profit was ?

,d foØsrk vius lkeku dk ewY; bl izdkj vafdr djrk
gS] rkfd mls 25% ykHk gksA og bl oLrq ds vafdr ewY;
ij 16% dh NwV nsrk gSA mldk okLrfod ykHk D;k gS ?
(a) 5% (b) 9%
(c) 16% (d) 25%

40. A shopkeeper sells a badminton racket
whose marked price is Rs. 30, at a discount
of 15% and gives a shuttle cock costing Rs.
1.50 free with each racket. Even then he
makes a profit of 20%. His cost price, per
racket is ?

,d nqdkunkj ,d cSMfeaVu jSdsV ftldk vafdr ewY; :i;s
30 gS dks 15% dh NwV ds lkFk csprk gS vkSj izR;sd
cSMfeaVu jSdsV ij ,d 'kWVy dkWd ftldh dher :i;s
1.50 gS] eqÝr nsrk gSA blds ckotwn Hkh og 20% dk ykHk
izkIr djrk gSA izR;sd jSdsV dk Ø; ewY; D;k gS ?
(a) Rs. 21.00 (b) Rs. 21.25
(c) Rs. 20.00 (d) Rs. 17.75

41. A trader marked his goods at 20% above the
cost price. He sold half the stock at the
marked price. One quarter at a discount of
20% on the marked price and the rest at a
discount of 40% on the marked price. His
total gain is ?

,d foØsrk vius lkeku dks mlds Ø; ewY; ls 20% vf/
d ij vafdr djrk gSA mlus vk/k lkeku vafdr ewY; ij
csp fn;kA ,d&pkSFkkbZ lkeku vafdr ewY; ij 20% dh NwV
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ds lkFk vkSj 'ks"k dks vafdr ewY; ij 40% NwV ds lkFk csp
fn;kA mldk dqy ykHk izfr'kr D;k gS ?
(a) 2% (b) 4.5%
(c) 13.5% (d) 15%

42. A person paid Rs. 17,000 for a motor-car after
a single discount of 15%. If he is given
successive discounts of 5% and 10% then
how much he would pay ?

,d O;fDr ,d eksVj&dkj ds fy, ,dek=k NwV 15% ysus
ds ckn blds fy, :i;s 17,000 nsrk gSA ;fn mls Øe'k%
5% rFkk 10% ds nks Øekxr cV~Vs fn;s tk;s] rks mls fdrus
:i;s vnk djus gkssaxs ?
(a) Rs. 17,000 (b) Rs. 17,010
(c) Rs. 17,100 (d) Rs. 18,900

43. A shopkeeper marks his sarees at 20%
above the cost price and allows the
purchaser a discount of 10% for cash buying.
What profit percent does he marked ?

,d nqdkunkj viuh lkfM+;ksa ij Ø; ewY; ls 20% vf/d
vafdr djrk gS vkSj [kjhnnkj dks uxn Hkqxrku ij 10% dh
NwV nh tkrh gS] rks mls fdrus izfr'kr ykHk izkIr gqvk ?
(a) 18% (b) 12%
(c) 10% (d) 8%

44. To gain 8% after allowing a discount of 10%,
by what percent cost price should be hiked
in the list price ?

fdlh oLrq ds vafdr ewY; dks mlds Ø; ewY; ls fdrus
izfr'kr vfèkd c<+kuk pkfg, rkfd mls ml oLrq ij 10%

dh NwV nsus ds ckn Hkh 8% dk ykHk izkIr gks ?
(a) 9% (b) 11%
(c) 18% (d) 20%

45. A shopkeeper buys an article for Rs. 180. He
wishes to gain 20%  after allowing a discount
of 10% on the marked price to the customer.
The marked price will be ?

,d nqdkunkj fdlh oLrq dks :i;s 180 esa [kjhnrk gSA og
xzkgd dks vafdr ewY; ij 10% dh NwV nsus ds ckn Hkh
20% dk ykHk dekuk pkgrk gSA rks vafdr ewY; D;k
gksxk ?

(a) Rs. 210 (b) Rs. 240
(c) Rs. 270 (d) Rs. 300

46. The cost of manufacturing an article was Rs.
900. The trader wants of 10%. The marked
price must be ?

,d oLrq dh fuekZ.kkxr ykxr :i;s 900 FkhA foØsrk vafdr
ewY; ij 10% dh NwV nsus ds ckn Hkh 25% dk ykHk dekrk
gSA rks vafdr ewY; D;k gksxk ?

(a) Rs. 1500 (b) Rs. 1250
(c) Rs. 1200 (d) Rs. 1000

47. A shopkeeper offers 10% discount on the
marked price of his articles and still makes
a profit of 20%. What is the actual cost of
the article marked Rs. 500 for him ?

,d nqdkunkj vius lkekuksa ds vafdr ewY; ij 10% dh NwV
nsrk gS vkSj vc Hkh mls 20% dk ykHk gksrk gSA vafdr ewY;
:i;s 500 ds fy, mldh okLrfod ykxr D;k gksxh ?

(a) Rs. 440 (b) Rs. 425
(c) Rs. 400 (d) Rs. 375

48. The marked price of a watch is Rs. 800. A
shopkeeper gives two successive discounts
and sells the watch at Rs. 612. If the first
discount is 10%, the second discount is ?

,d ?kM+h dk vafdr ewY; :i;s 800 gSA ,d nqdkunkj bl
?kM+h ij nks Øekxr% NwV nsrk gSA NwV nsus ds ckn og bls :i;s
612 esa csp nsrk gSA ;fn igyh NwV 10% gS] rks nwljh NwV
D;k gS ?
(a) 8% (b) 10%
(c) 12% (d) 15%

49. A shopkeeper gives two successive discount
on an article marked Rs. 450. The first
discount given is 10%. If the customer pays
Rs. 344.25 for the article, the second
discount given is ?

,d nqdkunkj fdlh oLrq ij :i;s 450 vafdr fd, x,
ewY; ij nks Øfed NwV nsrk gSA igyh NwV 10% gSA ;fn
xzkgd us bl oLrq ds fy, :i;s 344.25 vnk fd, gksa] rks
nwljh NwV fdruh gS ?
(a) 14% (b) 10%
(c) 12% (d) 15%

50. Successive discounts of 10%, 20% and 30%
is equivalent to a single discount of ?

rhu Øfed cV~Vs Øe'k% 10%, 20% rFkk 30% fdl ,d
NwV ds lerwY; gS ?
(a) 60% (b) 49.6%
(c) 40.5% (d) 36%

51. A shopkeeper gives 12 percent additional
discount along with a discount of 20 percent
on the marked price of a radio. If the sale
price of the radio is Rs. 704, the marked price
is ?

,d nqdkunkj fdlh jsfM;ks ds vafdr ewY; ij 20% ds ,d
cV~Vs ds vykok 12% dk ,d vkSj vfrfjDr cV~Vk nsrk gSA
;fn jsfM;ks dk foØ; ewY; :i;s 704 gS] rks jsfM;ks dk
vafdr ewY; D;k gS ?
(a) Rs. 844.80 (b) Rs. 929.28
(c) Rs. 1,044.80 (d) Rs. 1,000

52. A company offers three types of successive
discounts (i) 25% and 15%    (ii) 30% and
10%    (iii) 35% and 5%. which offer is the
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best for a customer ?

,d dEiuh rhu rjg ds Øfed cV~Vs iznku djrh gS (i)

25% vkSj 15% (ii) 30% vkSj 10% (iii) 35% vkSj
5% fuEu esa ls xzkgd ds fy, dkSu&lk cV~Vk lcls vPNk
gS ?
(a) First offer
(b) Second offer
(c) Third offer
(d) Any one: all are equally good

53. An article is listed at Rs. 900 and two
successive discounts of 8% and 8% are given
on it. How much would the saler gain or loss,
if he gives a single discount of 16% instead
of two discounts ?

,d oLrq ij :i;s 900 vafdr fd;k x;k gSA bl ij nks
Øfed NwV 8% vkSj 8% nh xbZ gSA ;fn mls nks Øfed NwV
dh txg ,d vdsyh 16% dh NwV nh tkrh rks] cspus okys
dks fdrus % dk ykHk ;k gkfu gksrh ?
(a) Gain of Rs. 4.76 (b) Loss of Rs. 5.76
(c) Gain of Rs. 5.76 (d) Loss of Rs. 4.76

54. A dealer buys a car listed at Rs. 2,00,000 at
successive discounts of 5% and 10%. If he
sells the car for Rs. 1,79,550, then his profit
is ?

,d O;kikjh fdlh dkj dks ftldk vafdr ewY; :i;s
2,00,000 gS] dks nks Øfed NwV 5% rFkk 10% ikdj
[kjhnrk gSA ;fn og bl dkj dks :i;s 1,79,550 esa csp
nsrk gS rks mldk ykHk izfr'kr D;k gS ?
(a) 10% (b) 9%
(c) 5% (d) 4%

55. An article listed at Rs. 800 is sold at
successive discounts of 25% and 15%. The
buyer desires to sell it off at a profit of 20%
after allowing a 10% discount. What would
be his list price ?

,d oLrq ftldk vafdr ewY; :i;s 800 gS dks nks Øfed
NwV Øe'k% 25% rFkk 15% nsdj cspk tkrk gSA [kjhnnkj
bls 10% NwV nsus ds ckn 20% dk ykHk izkIr dj csprk gSA
rks mldk vafdr ewY; D;k gksxk ?
(a) Rs. 620 (b) Rs. 600
(c) Rs. 640 (d) Rs. 680

56. The difference between a discounts of 40%
on Rs. 500 and two successive discount of
36% and 4% on the same amount is ?

:i;s 500 dh jkf'k ij ,d 40% dh NwV nh tkrh gS vkSj
mlh jkf'k ij nks Øfed NwV 36% rFkk 4% nh tkrh gSA nksuksa
izdkj dh NwV esa fdruk vUrj gS ?
(a) zero (b) Rs. 1.93
(c) Rs. 2.00 (d) Rs. 7.20

57. The marked price of an electric iron is Rs.
300. The shopkeeper allows a discount of
12% and still gains 10%. If no discount is
allowed his gain percent would have been ?

fdlh fo|qr bL=kh dk vafdr ewY; :i;s 300 gS] nqdkunkj
ml ij 12% dh NwV nsus ds ckn Hkh 10% dk ykHk dekrk
gSA ;fn dksbZ Hkh NwV u nh tk, rks mls fdrus izfr'kr dk ykHk
izkIr gksxk ?
(a) 20% (b) 25%
(c) 27% (d) 30%

58. A trader sells his goods at a discount of 25%.
If he sells the goods at the market price only.
His profit will be ?

,d foØsrk vius lkeku dks 20% dh NwV ds lkFk csprk
gS vkSj vHkh Hkh og 25% dk ykHk dekrk gSA ;fn og bl
lkeku dks blds vafdr ewY; ij csps rks mls fdrus izfr'kr
ykHk gksxk ?

(a) 56.25% (b) 25.56%
(c) 50.25% (d) 54.25%

59. If a discount of 20% on the marked price of a
shift saves a man Rs. 150, how much did he
pay for the shirt ?

;fn ,d deht ds vafdr ewY; ij 20% dh NwV nh tkrh
gS] rks ,d O;fDr :i;s 150 cpk ikrk gS] rks mlus bl oLrq
ds fy, fdrus :i;s vnk fd, ?
(a) Rs. 600 (b) Rs. 650
(c) Rs. 500 (d) Rs. 620

60. Ravi buys an article with a discount of 25%
on its marked price. He makes a profit of 10%
by selling it at Rs. 660. The marked price of
the article was ?

jfo fdlh oLrq dks blds vafdr ewY; ij 25% dh NwV ds
lkFk [kjhnrk gSA og bls :i;s 660 esa cspdj 10% dk
ykHk dekrk gSA rks oLrq dk vafdr ewY; D;k Fkk ?
(a) Rs. 600 (b) Rs. 700
(c) Rs. 800 (d) Rs. 685

61. A dealer buys an article marked at Rs. 25,000
with 20% and 5% off. He spends Rs. 1,000
for its repair and sells it for Rs. 25,000 what
is his gain or loss percent ?

,d O;kikjh fdlh oLrq dks ftldk vafdr ewY; :i;s
25,000 gS] dks nks Øfed NwV Øe'k% 20% rFkk 5% ds
lkFk [kjhnrk gSA og bls Bhd djkus esa :i;s 1,000 [kpZ
djrk gS vkSj :i;s 25,000 esa csp nsrk gS] rks mldk ykHk
% ;k gkfu % D;k gS ?
(a) Loss of 25% (b) Gain of 25%
(c) Gain of 10% (d) Loss of 10%

62. The marked price of a shirt and trousers are
in the ratio 1 : 2. The shopkeeper gives 40%
discount on the shirt. If the total discounton
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the shirt and trousers is 30%, the discount
offered on the trousers is ?

,d deht vkSj ik;tkesa dk vafdr ewY; 1 : 2 esa gSA
nqdkunkj deht ij 40% dh NwV nsrk gSA ;fn deht vkSj
ik;tkesa ij dqy NwV 30% gS] rks ik;tkesa ij fdrus izfr'kr
NwV nh xbZ gS ?
(a) 15% (b) 20%
(c) 25% (d) 30%

63. A book is listed at Rs. 1,400 and the discount
offered is 10%. What additional discount
must be given to bring the net selling price
to Rs. 1,200 ?

fdlh oLrq dk vafdr ewY; :i;s 1,400 gS vkSj 10% dh
NwV nh tkrh gSA bl oLrq dks :i;s 1,200 esa cspus ds fy,
fdruh vfrfjDr NwV nsuh pkfg, ?

(a) 16
2

3
% (b) 5%

(c) 4
16

21
% (d) 6%

64. A pen is listed for Rs. 12. A discount of 15%
is given on it. A second discount is given
bringing the price down to
Rs. 8.16, the rate of second discount is ?

,d isu dk vafdr ewY; :i;s 12 gSA bl ij 15% dh NwV
nh tkrh gSA bl oLrq dks :i;s 8.16 esa cspus ds fy, ,d
vfrfjDr NwV nh tkrh gSA rks nwljh NwV nj D;k gS ?
(a) 20% (b) 15%
(c) 18% (d) 25%

65. An article is listed at Rs. 920. A customer
pays Rs. 742.90 for it after getting two
successive discounts. If the rate of first
discount is 15%, the rate of 2nd discount is
?

,d oLrq ij ewY; :i;s 920 vafdr fd;k x;k gSA ,d
xzkgd bls nks Øfed NwV ds ckn :i;s 742.90 esa [kjhnrk
gSA ;fn igyh NwV dh nj 15% gS] rks nwljh NwV nj D;k gS ?

(a) 3% (b) 5%
(c) 8% (d) 12%

66. The marked price of watch was Rs. 820. A
man bought the watch for Rs. 570.72 after
getting two successive discounts, of which
the first was 20%. The second discount was
?

fdlh ?kM+h dk vafdr ewY; :i;s 820 FkkA ,d O;fDr bls
nks Øfed NwV izkIr djus ds ckn :i;s 570.72 esa [kjhnrk
gSA ;fn mlesa igyh NwV 20% gS] rks nwljh NwV fdrus %
gS ?

(a) 18% (b) 15%
(c) 13% (d) 11%

67. A bicycle, marked at Rs. 2,000 is sold with
two successive discount of 20% and 10%.
An additional discount of 5% is offered for
each payment. The selling price of the bicycle
at cash payment is ?

,d lkbfdy ftldk vafdr ewY; :i;s 2,000 gS dks nks
Øfed NwV Øe'k% 20% rFkk 10% ds lkFk cspk tkrk gSA
uxj Hkqxrku ij 5% dh ,d vfrfjDr NwV nh tkrh gSA uxj
Hkqxrku ij lkbfdy dk foØ; ewY; D;k gksxk ?
(a) Rs. 1,368 (b) Rs. 1,468
(c) Rs. 1,568 (d) Rs. 1,668

68. The difference between a discount 40% on
Rs. 500 and two successive discounts of 30%
and 10% on the same amount is ?

:i;s 500 dh jkf'k ij ,d 40% NwV vkSj mlh jkf'k ij
nks Øfed NwV 30% rFkk 10% ds chp fdruk vUrj gS ?
(a) Rs. 15 (b) 0
(c) Rs. 20 (d) Rs. 10

69. An article is sold at a discount of 20% and
an additional discount of 30% is allowed on
cash payment. If Vidya purchased the article
by paying Rs. 2240 in cash, the marked price
of the article was ?

,d oLrq dks 20% dh oLrq NwV ds lkFk cspk tkrk gS vkSj
uxn Hkqxrku ij 30% dh vfrfjDr NwV nh tkrh gSA ;fn
fon~;k bls uxr Hkqxrku dj :i;s 2240 esa [kjhnrh gS rks bl
oLrq dk vafdr ewY; D;k Fkk ?
(a) Rs. 4,000 (b) Rs. 4,368
(c) Rs. 4,400 (d) Rs. 4,480

70. While selling a cooler, a shopkeeper gives a
discount of 10% on the marked price. If he
gives a discount of 12% he earns Rs. 35 less
as profit. The marked price of the cooler is ?

,d dwyj dks csprs le;] ,d nqdkunkj vafdr ewY; ij
10% dh NwV nsrk gSA ;fn og 12% dh NwV nsrk gS rks mls
ykHk ds :i esa :i;s 35 de izkIr gksrs gSaA rks dwyj dk
vafdr ewY; D;k gS ?
(a) Rs. 1650 (b) Rs. 1625
(c) Rs. 1725 (d) Rs. 1750

71. A trader gains 15% after selling an item at
10% discount on the cost price. The ratio of
the cost price and printed price of the item
is ?

,d foØsrk fdlh oLrq ds vafdr ewY; ij 10% dh NwV nsus
ds ckn Hkh 15% dk ykHk izkIr djrk gSA rks oLrq ds Ø;
ewY; vkSj vafdr ewY; dk u;k vuqikr gS ?
(a) 18 : 23 (b) 17 : 18
(c) 17 : 23 (d) 18 : 25

72. A shopkeeper allows 4% discount on his
marked price. If the cost price of an article
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is Rs. 100 and he has to make a profit of
20%, then his marked price must be ?

,d nqdkunkj oLrq ds vafdr ewY; ij 4% dh NwV nsrk gSA
;fn oLrq dk Ø; ewY; :i;s 100 gS vkSj og 20% dk ykHk
dekrk gS rks mldk vafdr ewY; fdruk gksuk pkfg, ?
(a) Rs. 96 (b) Rs. 120
(c) Rs. 125 (d) Rs. 130

73. When a shopkeeper gives 10% discount on
the list price of a toy, his gain is 20%. If he
had given a discount of 20%, his percentage
of gain would have been ?

tc ,d nqdkunkj ,d f[kykSus ij 10% dh NwV nsrk gS rks
mls 20% dk ykHk izkIr gksrk gSA ;fn mlus 20% dh NwV
nh gqbZ gksrh rks mldk ykHk % fdruk gksxk ?

(a) 6
2

3
% (b) 8

1

3
%

(c) 10% (d) 15%
74. A retailer purchases a grinder at a discount

of 15% of the wholesaler and sells it for Rs.
1955 at a profit of 15%. The amount of
discount received by the retailer from the
wholesaler was ?

,d [kqnjk O;kikjh fdlh pDdh dks ,d Fkksd foØsrk ls
15% NwV ij [kjhnrk gS vkSj bls :i;s 1955 esa 15% ykHk
ds lkFk csp nsrk gSA [kqnjk O;kikjh dks Fkksd foØsrk ls fdruh
(:is esa) NwV feyh ?

(a) Rs. 720 (b) Rs. 290
(c) Rs. 300 (d) Rs. 330

75. The marked price of a T.V. is Rs. 16,000. After
successive discounts it is sold for Rs. 11,400.
If the first discount is 5%, then the rate of
second discount is ?

fdlh Vh-oh- dk vafdr ewY; :i;s 16,000 gSA nks Øfed
NwV ds ckn bls :i;s 11,400 es cspk tkrk gSA ;fn igyh
NwV 5% gS] rks nwljh NwV nj fdruh gS ?
(a) 15% (b) 20%
(c) 30% (d) 25%

76. The difference between a discount of 30%
on Rs. 2,000 and two successive discounts
of 25% and 5% on the same amount is ?

:i;s 2,000 dh jkf'k ij ,d NwV 30% vkSj mlh jkf'k ij
nks Øfed NwV 25% rFkk 5% ds chp fdruk vUrj gS ?
(a) Rs. 30 (b) Rs. 35
(c) Rs. 25 (d) Rs. 40

77. The marked price of a radio is Rs. 4,800. The
shopkeeper allows a discount of 10% and
gains 8%. If no discount is allowed, his gain
percent will be ?

fdlh jsfM;ksa dk vafdr ewY; 4,800 gSA nqdkunkj 10% NwV
nsrk gS rFkk 8% ykHk vftZr djrk gSA ;fn dksbZ Hkh NwV u

nh tk,] rks mldk ykHk izfr'kr fdruk gksxk ?

(a) 18% (b) 20%
(c) 22% (d) 25%

78. A dozen pair of socks quoted at Rs. 80 are
available at a discount of 10%. How many
pairs of socks can be bought for Rs. 24 ?

tqjkcksa dh ,d ntZu tksM+h] ftudk vafdr ewY; :i;s 80

gS ij 10% dh NwV nh tkrh gSA :i;s 24 esa tqjkcksa dh
fdruh tksM+h [kjhnh tk ldrh gSa ?
(a) 4 (b) 5
(c) 3 (d) 6

79. If on a marked price the difference of selling
prices with a discount of 30% and two
successive discount of 20% and 10% is 72,
then the marked price (in rupees) is ?

;fn vafdr ewY; ij ,d 30% dh NwV vkSj nwljh nks Øfed
NwV Øe'k% 20% rFkk 10% ds lkFk foØ; ewY; dk vUrj
:i;s 72 gS rks oLrq dk vafdr ewY; D;k gS ?
(a) Rs. 3,600 (b) Rs. 3,000
(c) Rs. 2,500 (d) Rs. 2,400

80. Two successive discounts of 20% and 20%
is equivalent to a single discount of ?

nks Øfed NwV Øe'k% 20% rFkk 20% fdl ,d NwV ls
lerqY; gS ?
(a) 42% (b) 40%
(c) 36% (d) 34%

81. Tow successive discounts of 10% and 5% are
equivalent to a single discount of ?

nks Øfed NwV Øe'k% 10% rFkk 5% fdl ,d NwV ds
lerqY; gS ?
(a) 14% (b) 14.25%
(c) 14.50% (d) 15%

82. The single discount, which is equivalent to
successive discount of 25% and 10% is ?

,dek=k NwV] tks nks Øfed NwV Øe'k 25% rFkk 10% ds
lerqY; gS ?

(a) 35% (b) 34.5%
(c) 33% (d) 32.5%

83. The single discount equivalent to two
successive discount of 20% and 5% is ?

,dek=k NwV] tks nks Øfed NwV Øe'k% 20% rFkk 5% ds
lerqY; gS] D;k gS ?
(a) 24% (b) 25%
(c) 22% (d) 23%

84. A shopkeeper marks the price of an item
keeping 20% profit. If he offers a discount of
12½% on the marked price, his gain percente
will be ?

,d nqdkunkj fdlh oLrq dk vafdr ewY; ,sls fu;r djrk
gS] rkfd mls 20% dk ykHk gksA ;fn og vafdr ewY; ij
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12½% dh NwV ns] rks mls fdrus izfr'kr ykHk gksxk ?
(a) 4.5% (b) 5%
(c) 7.5% (d) 8%

85. A saler marks his goods 30% above their cost
price but allows 15% discount for cash
payment. His percentage of profit when sold
in cash is ?

,d foØsrk vius lkekuksa ij Ø; ewY; ls 30% vf/d
vafdr djrk gSA ijUrq uxn Hkqxrku ij 15% dh NwV nsrk
gSA tc og mls uxn Hkqxrku ij csprk gS] rks mls fdrus
izfr'kr ykHk gksrk gS ?
(a) 10.5% (b) 15%
(c) 9% (d) 8.5%

86. What price should a shopkeeper marks on
an article costing him Rs. 200 to gain 35%
after allowing a discount of 25% ?

,d nqdkunkj dks fdlh oLrq dk vafdr ewY; D;k vafdr
djuk pkfg,] rkfd og ml oLrq ftldk Ø; ewY; :i;s
200 gS] ij 25% dh NwV nsus ds ckn 35% dk ykHk dek
lds ?
(a) Rs. 270 (b) Rs. 300
(c) Rs. 330 (d) Rs. 360

87. A trader marks his goods 40% above cost
price and allows a discount of 25%. The profit
he makes is ?

,d foØsrk vius lkekuksa dks Ø; ewY; ls 40% vf/d
vafdr djrk gS vkSj 25% dh NwV nsrk gS] rks mldk ykHk
izfr'kr D;k gS ?
(a) 15% (b) 10%
(c) 5% (d) 2%

88. A dealer marks his goods 20% above their
cost price. He then allows some discount on
marked price so that he makes a profit of
10%. The rate of discount is ?

,d foØsrk vius lkekuksa dks Ø; ewY; ls 20% vf/d
vafdr djrk gS vkSj vc og bl ij dqN NwV nsrk gS] rkfd
mls 10% ykHk izkIr gks lds] rks NwV dh nj D;k gS ?

(a) 10
1

3
% (b) 9

1

3
%

(c) 8
2

3
% (d) 8

1

3
%

89. In a shop shirts are usually sold at 40%
above the cost price. During a sale, the
shopkeeper offers a discount of 10% off the
usual selling price. If he manages to sell 72
shirts for Rs. 15,608 then his cost price per
shirt, (in Rs.) is ?

,d nqdku esa lk/kj.kr;% fdlh oLrq dks mlds Ø; ewY; ls
40% vfèkd vafdr djds cspk tkrk gSA ,d lsy ds nkSjku]

nqdkunkj foØ; ewY; ij 10% dh NwV nsrk gSA ;fn og 72

dehtksa dks :i;s 13,608 esa csprk gS] rks izR;sd deht dk
Ø; ewY; D;k gS ?
(a) Rs. 210 (b) Rs. 150
(c) Rs. 149 (d) Rs. 125

90. A manufacturer marked an article at Rs. 50
and sold it allowing 20% discount. If his profit
was 25%, then the cost price of the article
was ?

fdlh oLrq ds fuekZ.k dk [kpZ :i;s 50 gS vkSj mls 20%

dh NwV ds lkFk cspk tkrk gSA ;fn mldk ykHk 25% gS] rks
oLrq dk Ø; ewY; D;k gS ?
(a) Rs. 40 (b) Rs. 35
(c) Rs. 32 (d) Rs. 30

91. A shopkeeper earns a profit of 12% on selling
a book at 10% discount on the printed price.
The ratio of the cost price and the printed
price of the book is ?

,d nqdkunkj fdlh oLrq ij eqfnzr ewY; ij 10% dh NwV
nsus ds ckn 12% dk ykHk dekrk gSA oLrq ds Ø; ewY; dk
vuqikr D;k gS ?
(a) 45 : 56 (b) 45 : 51
(c) 47 : 56 (d) 47 : 51

92. While selling shirt, a shopkeeper gives a
discount of 7%. If he had given a discount of
9% he would have got Rs. 15 less as profit.
The marked price of the shirt is ?

,d deht dks csprs le;] ,d nqdkunkj 7% dh NwV nsrk
gSA ;fn mlus 9% dh NwV nh gksrh] rks mls ykHk ds :i esa
:i;s 15 de izkIr gksrs] rks deht dk vafdr ewY; D;k gS
?
(a) Rs. 750 (b) Rs. 720
(c) Rs. 712.50 (d) Rs. 600

93. The selling price of an article is Rs. 1,920
and the discount given is 4%. The marked
price of the article is ?

,d oLrq dk foØ; ewY; :i;s 1,920 gS vkSj oLrq ij nh
xbZ NwV 4% gS] rks oLrq dk vafdr ewY; D;k gS ?
(a) Rs. 2,400 (b) Rs. 2,000
(c) Rs. 1,600 (d) Rs. 1,200

94. A shopkeeper sells his goods at 15%
discount. The marked price of an article
whose selling price is Rs. 629 is ?

,d nqdkunkj vius lkekuksa dks 15% dh NwV ij csprk gSA
ml oLrq dk vafdr ewY; D;k gksxk] ftldk foØ; ewY;
:i;s 629 gS ?
(a) Rs. 740 (b) Rs. 704
(c) Rs. 700 (d) Rs. 614

95. A discount of 24% on the marked price of an
article is allowed and then the article is sold
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for Rs. 342. The marked price of the article
is ?

fdlh oLrq ds vafdr ewY; ij 24% dh NwV nh tkrh gS vkSj
oLrq dks :i;s 342 esa cspk tkrk gSA oLrq dk vafdr ewY;
D;k gS ?
(a) Rs. 500 (b) Rs. 490
(c) Rs. 450 (d) Rs. 430

96. If an electricity bill is paid before due date,
one gets a reduction of 4% on the amount of
the bill. By paying the bill before due date a
person got a reduction of Rs. 13. The amount
of his electricity bill was ?

;fn ,d fctyh ds fcy dk Hkqxrku mldh fu;r rkjh[k ls
igys gksrk gS] fcy dh jkf'k esa 4% dh deh (NwV) nh tkrh
gSA fcy dk Hkqxrku fu;r rkjh[k ls igys djus ij ,d
O;fDr ds fcy esa :i;s 13 dh deh vkrh gSA fctyh ds fcy
dh jkf'k fdruh Fkh ?
(a) Rs. 125 (b) Rs. 225
(c) Rs. 325 (d) Rs. 425

97. What single discount is equivalent to two
successive discount of 20% and 15% ?

nks Øfed NwV Øe'k% 20% rFkk 15% fdl ,d NwV ds
lerqY; gS ?
(a) 35% (b) 32%
(c) 34% (d) 30%

98. The single discount equal to three
consecutive discounts of 10%, 12% and 5%
?

rhu Øfed NwV Øe'k% 10%, 12% rFkk 5% fdl ,d
NwV ds lerqY; gS ?
(a) 35% (b) 32%
(c) 24.76% (d) 30%

99. The difference between discount of 35% and
two successive discount of 20% on a certain
bill was 22, the amount of the bill is ?

,d fcy esa 35% NwV nsus ij vkSj nks ckj Øec¼ 20% dh
NwV nsus ij :i;s 22 dk vUrj vkrk gS] rks bl fcy dh jkf'k
fdruh Fkh ?
(a) Rs. 200 (b) Rs. 220
(c) Rs. 1,100 (d) 2,200

100. The marked price of a watch is Rs. 1,600.
The shopkeeper gives successive discount
of 10% and x% to the customer. If the
customer pays Rs. 1,224 for the watch, the
value of x is ?

,d ?kM+h dk vafdr ewY; :i;s 1,600 gSA mldk foØsrk
,d [kjhnnkj dks Øekuqlkj 10% rFkk x% dh NwV nsrk gS
vkSj [kjhnkj mls :i;s 1,224 esa [kjhn ysrk gSA rnkuqlkj x
dk eku D;k gS ?

(a) 5% (b) 10%
(c) 15% (d) 20%

101. A single discount equivalent to discount
series 20%, 20% and 10% is ?

rhu Øfed NwV 20%, 20% rFkk 10% fdl ,d NwV ds
lerqY; gS ?
(a) 50% (b) 48.4%
(c) 42.4% (d) 40.4%

102. The single discount which is equivalent to
successive discounts of 20%, 15% and 10%
is ?

20%, 15% rFkk 10% dh nj ls nh xbZ Øfed NwV fdl
,d NwV ds lerqY; gS ?
(a) 32.7% (b) 34.2%
(c) 36.9% (d) 38.8%

103. The single discount equivalent to the
discount series of 20%, 10% an 5% is ?

20%, 10% rFkk 5% dh nj ls nh xbZ Øfed NwV fdl
,d NwV ds lerqy; gS ?
(a) 11.66% (b) 31.6%
(c) 35.66% (d) 32%

104. Successive discounts of p% and q% on the
catalogue price of an article is equivalent to
a single discount of ?

fdlh oLrq ds lwph ewY; ij p% rFkk q% dh Øfed NwV
fdl ,d NwV ds lerqY; gS ?

(a) 
xy

x y %
100

 
   
 

(b) 
pq

p q %
100

 
   
 

(c) 
pq

p q %
100

 
   
 

(d) 
pq

p q %
100

 
   
 

105. In a shop, shirts are usually sold at 40%
above the cost price. During a sale, the
shopkeeper offers a discount of 10% off the
usual selling price. If the manages to sell 216
shirts for Rs. 13,608, then his cost price per
shirt (in Rs.) is ?

,d nqdku esa lk/kj.kr;% fdlh oLrq dks mlds Ø; ewY; ls
40% vf/d vafdr djds cspk tkrk gSA ,d lsy ds nkSjku]
nqdkunkj us foØ; ewY; ij 10% dh NwV nsrk gSA ;fn og
216 dehtksa dks :i;s 13,608 esa csprk gS rks izR;sd
deht dk Ø; ewY; D;k gS ?
(a) Rs. 210 (b) Rs. 50
(c) Rs. 149 (d) Rs. 125

106. If a shopkeeper marks the price of goods 50%
more than their cost price and allows a
discount of 40%, what is his gain or loss
percent ?

,d nqdkunkj vius lkeku ij mlds Ø; ewY; ls 50% vf/
d vafdr djrk gS vkSj 40% dh NwV nsrk gSA rks mldk ykHk
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izfr'kr ;k gkfu izfr'kr D;k gS ?
(a) Gain of 10% (b) Loss of 10%
(c) Gain of 20% (d) Loss of 20%

107. A dealer marks his goods at 40% above the
cost price and allows discount of 20% on the
marked price. The dealer has a ?

;fn ,d foØsrk vius lkeku ij mlds Ø; ewY; ls 40%

vf/d vafdr djrk gS vkSj vafdr ewY; ij 20% dh NwV
nsrk gS] rks foØsrk dks ?
(a) Loss of 20% (b) Gain of 25%
(c) Loss of 12% (d) Gain of 12%

108. A trader marks his goods 45% above the cost
price and gives a discount of 20% on the
marked price. The gain % on goods he makes
is ?

;fn foØsrk vius lkeku ij mlds Ø; ewY; ls 45% vf/
d vafdr djrk gS vkSj vafdr ewY; ij 20% dh NwV nsrk
gS] rks mls bl oLrq ij fdrus izfr'kr ykHk gqvk ?
(a) 15% (b) 14%
(c) 29% (d) 16%

109. Maha Bazar offers 20% discount on bags
which have been marked 50% above the cost
price. Amarnath pays Rs. 840 for a bag. Then
the cost price of the bag is ?

ykxr ewY; ls 50% vf/d vafdr ewY; ij egk cktkj esa
FkSyksa ij 20% NwV nh tkrh gSA ogk¡ ij vejukFk us FkSys dh
dher :i;s 840 vnk dhA rks ml FkSys dk ykxr ewY; D;k
Fkk ?
(a) Rs. 672 (b) Rs. 700
(c) Rs. 790 (d) Rs. 810

110. A merchant purchases a wrist watch for Rs.
450 and fixes its list price in such a way that
after allowing a discount of 10%, he earns a
profit of 20%. Find the list price of the watch
?

,d O;kikjh :i;s 450 esa ,d dykbZ ?kM+h [kjhnrk gS vkSj
bldk lwph ewY; bl rjg vafdr gS fd 10% dh NwV nsus
ds ckn Hkh mls 20% dk ykHk izkIr gksrk gSA vafdr ewY; D;k
gS ?
(a) Rs. 480 (b) Rs. 450
(c) Rs. 600 (d) Rs. 540

111. The marked price of a radio is Rs. 480. The
shopkeeper allows a discount of 10% and
gains 8%. If no discount is allowed, his gain
percent would be ?

,d jsfM;ks dk vafdr ewY; :i;s 480 gSA ,d nqdkunkj
10% dh NwV nsdj 8% dk ykHk dekrk gSA ;fn dksbZ Hkh NwV
u nh tk,] rks mls fdruk ykHk izfr'kr gksxk
(a) 18% (b) 18.5%
(c) 20.5% (d) 20%

112. Marked price of an article is Rs. 275,
shopkeeper allows a discount of 5% and he
gets profit of 4.5%. The actual cost of the
article is ?

fdlh oLrq dk eqfnzr ewY; :i;s 275 gSA nqdkunkj 5% dh
NwV nsdj 4.5% dk ykHk dekrk gSA rks bl oLrq dk Ø;
ewY; D;k gksxk ?
(a) Rs. 250 (b) Rs. 225
(c) Rs. 215 (d) Rs. 210

113. After allowing a discount of 16% there was
still a gain of 5%. Then the percentage of
marked price over the cost price is ?

16% dh NwV nsus ds ckn Hkh 5% dk ykHk gksrk gS] rks vafdr
ewY;] Ø; ewY; ls fdruk vf/d gksxk ?
(a) 15% (b) 18%
(c) 21% (d) 25%

114. An article of cost price Rs. 8,000 is marked
at Rs. 11,200. After allowing a discount of x
percent a profit of 12% is made. The value of
x is ?

,d oLrq ftldk Ø; ewY; :i;s 8,000 gS] tcfd vafdr
ewY; :i;s 11,200 gS rFkk x% dh NwV nsus ds ckn Hkh mls
12% dk ykHk izkIr gksrk gS] rks x dk eku D;k gS ?
(a) 21% (b) 20%
(c) 22% (d) 23%

115. The cost price of an article is 64% of the
marked price. The gain percentage after
allowing a discount of 12% on the marked
price is ?

fdlh oLrq dk Ø; ewY; mlds vafdr ewY; dk 64% gS rFkk
vafdr ewY; ij 12% dh NwV nsus ds ckn ykHk izfr'kr D;k
gS ?
(a) 37.5%  (b) 48%
(c) 50.5% (d) 52%

116. While selling a watch, a shopkeeper gives a
discount of 5%. If he gives a discount of 6%,
he earns Rs. 15 less as profit. What is the
marked price of the watch ?

,d ?kM+h dks csprs le; ,d nqdkunkj bl ij 5% dh NwV
nsrk gSA ;fn og bl ij 6% NwV nsrk] rks mls ykHk ds :i
esa :i;s 15 de feyrs gS] rks mldk vafdr ewY; D;k gS ?
(a) Rs. 1,250 (b) Rs. 1,400
(c) Rs. 1,500 (d) Rs. 750

117. Rahim bought a T.V. with 20% discount on
list price. Had he bought it with 25% discount
he would have saved Rs. 500. At what price
did he buy the T.V. ?

jghe ,d Vh-oh- blds lwph ewY; ij 20% dh NwV ds lkFk
[kjhnrk gSA ;fn mlus 25% NwV ds lkFk [kjhnk gksrk rks mls
:i;s 500 dh cpr gksrh] rks mlus fdl ewY; ij Vh-oh-



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 75 ]

THATHAGAT

IN
STITUTE

[kjhnk Fkk ?
(a) Rs. 16,000 (b) Rs. 12,000
(c) Rs. 10,000 (d) Rs. 8,000

118. A shopkeeper gains Rs. 56 on a toy after
allowing 23% discount on its marked price.
If his gain is 10%, then the marked price of
the toy is ?

,d nqdkunkj fdlh f[kykSus ds vafdr ewY; ij 23% NwV nsus
ij :i;s 56 ykHk izkIr djrk gSA ;fn ykHk 10% gS] rks
f[kykSus dk vafdr ewY; D;k gS ?
(a) Rs. 810 (b) Rs. 800
(c) Rs. 560 (d) Rs. 740

119. A shopkeeper list the price of an article as
Rs. 500. But he gives a certain discount
which allows the buys to pay Rs. 500 for the
article including 10% sales tax. The rate of
discount is ?

,d nqdkunkj fdlh oLrq dk ewY; :i;s 500 fu;r djrk
gS] ijUrq og ,d fuf'pr NwV nsus ds ckn :i;s 500 esa
[kjhnrk gSA ftlesa 10% fcØh dj 'kkfey gSA NwV dh
izfr'kr nj fdruh gS ?

(a) 10% (b) 10
1

11
%

(c) 9
1

11
% (d) 11%

120. The price of a certain television set is
discounted by 10% and the reduced price is
then discounted by 10%. This series of
successive discounts is equivalent to a
single discount is ?

fdlh Vsfyfotu ds ewY; esa igys 10% dh NwV nh tkrh gS
vkSj mlds ckn ?kVs gq, ewY; ij fiQj ls 10% dh NwV nh
tkrh gSA ;g Øfed NwV fdl ,d vdsyh NwV ds lerqY;
gS ?
(a) 20% (b) 19%
(c) 18% (d) 11%

121. A chair listed at Rs. 350 is available at
successive discounts of 25% and 10%. The
selling price of the chair is ?

,d dqlhZ ftldk vafdr ewY; :i;s 350 gS ;fn nks Øfed
NwV Øe'k% 25% rFkk 10% ds lkFk miyC/ gS] rks dqlhZ
dk foØ; ewY; D;k gS ?
(a) Rs. 236.25 (b) Rs. 230.25
(c) Rs. 240.25 (d) Rs. 241.25

122. A trader allows two successive discounts of
30% and 15% on selling an article. If he gets
Rs. 476 for that article, find its marked price
?

,d foØsrk fdlh lkeku dks csprs le; nks Øfed NwV

30% rFkk 15% nsrk gSA ;fn dksbZ bls :i;s 476 esa izkIr
djrk gS] rks bldk vafdr ewY; D;k gS ?
(a) Rs. 700 (b) Rs. 400
(c) Rs. 900 (d) Rs. 800

123. In selling an article, the single discount
equivalent to two successive discounts of
25% and 5% is ?

fdlh oLrq dks cspus esa] nks Øfed NwV 25% rFkk 5% fdl
,dek=k NwV ds lerqY; gS ?
(a) 28.75% (b) 30%
(c) 27.5% (d) 26%

124. The marked price of a table is Rs. 800. A
retailer bought it after two successive
discounts of10% and 15%. He spent Rs. 13
on transportation and sold it for Rs. 875. His
profit was ?

fdlh est dk vafdr ewY; :i;s 800 gSa ,d [kqnjk O;kikjh
bls nks Øfed NwV 10% rFkk 15% ds lkFk [kjhnrk gSA og
;krk;kr ij :i;s 13 [kpZ djrk gS vkSj bls :i;s 875 esa
csp nsrk gSA mldk ykHk izfr'kr D;k gS ?
(a) 40% (b) 37%
(c) 28% (d) 25%

125. Alex sold his goods after announcing two
successive discounts of 30% each. The
effective discount altogether is ?

,sysl vius lkekuksa dks nks Øfed NwV izR;sd 30% ds lkFk
csprk gSA ;g fdl ,d NwV ds lerqY; gS ?
(a) 52% (b) 49%
(c) 50% (d) 51%

126. A sofa-set listed at Rs. 800 is sold to a retailer
at successive discounts of 25% and 15% by
the wholesaler. Then the cost price of the
sofa-set for retailer is ?

,d Fkksd foØsrk }kjk fdlh [kqnjk O;kikjh dks ,d lksiQk&lsV
ftldk vafdr ewY; :i;s 800 gS] dks Øfed NwV Øe'k%
25% rFkk 15% ds lkFk cspk tkrk gSA lksiQk&lsV dk [kqnjk
O;kikjh ds fy, Ø; ewY; D;k gS ?
(a) Rs. 500 (b) Rs. 510
(c) Rs. 550 (d) Rs. 560

127. The printed price of a book is Rs. 320. A
retailer pays Rs. 244.80 for it. He gets
successive discounts of 10% and an another
rate. His second rate is ?

fdlh iqLrd dk eqfnzr ewY; :i;s 320 gSA ,d [knqjk
O;kikjh blds fy, :i;s 244.80 vnk djrk gSA og nks
Øfed NwV 10% rFkk nwljh fdlh vU; NwV nj izkIr djrk
gSA nwljh NwV nj D;k gS ?
(a) 15% (b) 16%
(c) 14% (d) 12%
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128. A merchant marks his goods 40% above the
cost price and sells them at a discount of
15%. Find his gain % ?

,d O;kikjh viuh oLrqvksa dk ewY; mlds Ø; ewY; ls
40% vf/d vafdr djrk gS vkSj 15% dh NwV ds lkFk
csp nsrk gSA mldk ykHk izfr'kr D;k gS ?
(a) 25% (b) 22%
(c) 19% (d) 20%

129. A trader marks his goods at 20% above the
cost price. If he allows a discount of 5% for
cash down payment, his profit percent for
such a transaction is ?

,d foØsrk viuh oLrqqvksa dk ewY; mlds Ø; ewY; ls 20%

vf/d vafdr djrk gSA ;fn og uxn Hkqxrku ij 5% dh
NwV nsrk gS] rks mls ysu&nsu esa mls fdrus izfr'kr ykHk gksxk
?
(a) 15% (b) 12%
(c) 14% (d) 17%

130. The marked price is 20% higher than cost
price. A discount of 20% is given on the
marked price. By this type of sale, there is ?

vafdr ewY; Ø; ewY; ls 20% vf/d gSA vafdr ewY; ij
20% dh NwV nh tkrh gSA bl izdkj ds foØ; esa ?
(a) 4% loss (b) 2% loss
(c) no loss no gain (d) 4% gain

131. A dealer marks his goods at 25% above the
cost price and allows a discount of 10% for
cash payment. His profit percent is ?

,d O;kikjh viuh oLrqvksa dks Ø; ewY; ls 25% vf/d
vafdr djrk gS vkSj uxn Hkqxrku ij 10% dh NwV nsrk gSA
mldk ykHk izfr'kr D;k gS ?
(a) 17.5% (b) 15%
(c) 12.5% (d) 20%

132. How much percent above the cost price
should a shopkeeper mark his goods so as
to earn a profit of 32% after allowing a
discount of 12% on the marked price ?

,d nqdkunkj dks viuh oLrqvksa dk vafdr ewY; mlds Ø;
ewY; ls fdruk izfr'kr vf/d vafdr djuk pkfg, fd
12% dh NwV nsus ds ckn Hkh mls 32% dk ykHk izkIr gks ?
(a) 50% (b) 40%
(c) 60% (d) 45%

133. The price that Akbar should marks on a pair
of shoes which costs him Rs. 1,200 to gain
12% after allowing a discount of 16% (in
rupees) is ?

vdcj dks ,d tksM+h twrs ftldk Ø; ewY; :i;s 1,200

gS dk ewY; D;k vafdr djuk pkfg,] rkfd 16% dh NwV
nsus ds ckn 12% dk ykHk izkIr gksrk gS ?
(a) 1,344 (b) 1,433

(c) 1,600 (d) 1,500
134. A trader allows a trade discount of 20% and

a cash discount of 6¼% on the marked price
of the goods and gets a net gain of 20% of
the cost. By how much above the cost should
the goods be marked for the sale ?

,d O;kikjh vius O;kikj ij 20% NwV dh vuqefr nsrk gS

vkSj vius eky ds vafdr ewY; ij 6¼% dh uxn NwV Hkh

nsrk gSA bl rjg mls viuh ykxr ij 20% 'kq¼ ykHk feyrk

gSA rnuqlkj cspus ds fy, mls vius eky dk vafdr ewY;]
mldh ykxr ewY; ls fdruk T;knk pkfg, ?
(a) 40% (b) 50%
(c) 60% (d) 70%

135. A tradesman marks his goods at such a
price that after allowing a discount of 15%,
he makes a profit of 20%. What is the marked
price of an article whose cost price is Rs. 170
?

,d O;kikjh vius lkeku dk vafdr ewY; bl izdkj vafdr

djrk gS fd 15% dh NwV nsus ds ckn Hkh mls 20% dk ykHk

izkIr gksrk gSA mldk vafdr ewY; D;k gksxk ftldk Ø; ewY;
:i;s 170 gS ?
(a) Rs. 240 (b) Rs. 260
(c) Rs. 220 (d) Rs. 200

136. How much percent above the cost price
should a shopkeeper mark his goods so as
to earn a profit of 10% after allowing a
discount of 12% on the marked price ?

,d nqdkunkj dks viuh oLrqvksa dk ewY; bl oLrq ds Ø;
ewY; ls fdruk vf/d vafdr djuk pkfg, rkfd vafdr

ewY; ij 12% dh NwV nsus ds ckn Hkh mls 10% dk ykHk

izkIr gks ?

(a) 50% (b) 25%
(c) 60% (d) 45%

137. A discount of 16% on the marked price of a
book enables a man to buy a pen that costs
Rs. 80. How much did he pay for the book ?

,d iqLrd ij 16% dh NwV ds dkj.k ,d O;fDr ,d

dye ftldh dher :i;s 80 gS [kjhn ldrk gSA ml O;fDr

us ml iqLrd ds fy, fdrus :i;s fn, ?

(a) Rs. 810 (b) Rs. 800
(c) Rs. 420 (d) Rs. 740

138. After allowing a discount of 12% on the
marked price of an article, it is sold for Rs.
880. Find his marked price ?

fdlh oLrq ds vafdr ewY; ij 12% dh NwV nsus ds ckn bls

:i;s 880 esa cspk tkrk gSA rks bldk vafdr ewY; Kkr djsa
?
(a) Rs. 1,100 (b) Rs. 2,000
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(c) Rs. 1,000 (d) Rs, 2,100
139. A fan in a shop is offered at a discount of

10%. It is sold during clearance sale at 6%
discount over the already discount price at
Rs. 846. The original marked price of the fan
is ?

,d nqdku esa dksbZ ia[kk 10% dh NqV ds lkFk miyC/ gSA

mls fudklh fcØh ds le; igys ls NwV fn, ewY; ij 6%

dh NwV nsdj :i;s 846 esa cspk tkrk gSA rnuqlkj] ml ia[ksa

dk vkjafHkd vafdr ewY; fdruk gS ?
(a) Rs. 900 (b) Rs. 946
(c) Rs. 850 (d) Rs. 1,000

140. Mr. A bought a refrigerator with 16
2

3
%

discount on the labelled price. Had he bought
it with 25% discount, he would have saved
Rs. 600. At what price did he buy the
refrigerator ?

A fdlh fÚt dks blds eqfnzr ewY; ij 16
2

3
% NwV ds lkFk

[kjhnrk gSA ;fn mlus bls 25% NwV ij [kjhnk gksrk] rks og

:i;s 600 cpk ikrk] rks mlus fdrus :i;s esa fÚt [kjhnk

Fkk ?
(a) Rs. 6,000 (b) Rs. 7,200
(c) Rs. 7,500 (d) Rs. 5,000

141. The selling price of a video game is Rs. 740
and the discount allowed is 7.5%. The
marked price of the video gams is ?

,d fofM;ks xse dk foØ; ewY; :i;s 740 gS vkSj 7.5%

dh NwV nh tkrh gSA rks fofM;ks xse dk vafdr ewY; D;k gS ?
(a) Rs. 600 (b) Rs. 700
(c) Rs. 800 (d) Rs. 900

142. A fan is listed at Rs. 150 and a discount of
20% is given. Then the selling price is ?

,d ia[kk ftldk vafdr ewY; :i;s 150 gSA 20% dh NwV

nh tkrh gSA rks foØ; ewY; D;k gS ?
(a) Rs. 180 (b) Rs. 150
(c) Rs. 120 (d) Rs. 110

143. If a table with marked price Rs. 6,000 was
sold to a customer for Rs. 5,500, then the
rate of discount allowed on the table is ?

;fn ,d [kkus dh est ftldk vafdr ewY; :i;s 6,000 gS]

,d xzkgd dks :i;s 5,500 esa csph tkrh gS] rks est ij nh

xbZ NwV % fdruh gS ?
(a) 10% (b) 8%

(c) 8
1

3
% (d) 9%

144. A washing machine is sold at a discount of

30%. If a man buys it for Rs. 6,580, its list
price is ?

,d okf'kad e'khu 30% NwV ij csph tkrh gSA ;fn dksbZ

O;fDr bls :i;s 6,580 esa [kjhnrk gS] rks bldk lwph ewY;

D;k gS ?
(a) Rs. 7,500 (b) Rs. 8,600
(c) Rs. 9,400 (d) Rs. 6,990

145. An article marked Rs. 800 is offered at Rs.
736 in the off season. The rate of discount
offered is ?

,d oLrq ftldk vafdr ewY; :i;s 800 gS] :i;s 736 esa

miyC/ gS rks nh xbZ NwV % D;k gS ?
(a) 10% (b) 7%
(c) 7.5% (d) 8%

146. The true discount on a sum of money due 2
years hence at 5% is Rs. 15. Find the sum ?

fdlh jkf'k ij 2 o"kZ ds fy, 5% nj ij lgh NwV :i;s 15

gSA jkf'k D;k gS ?
(a) Rs. 150 (b) Rs. 165
(c) Rs. 170 (d) Rs. 160

147. During month-long annual sale, a
shopkeeper sells his goods at a discount of
50%. But in the last week, he offers an
additional discount of 40%. If the original
price of a shirt is Rs. x, then the price, (in
rupees) during the last week of the sale will
be ?

,d eghu rd pyus okyh] ,d okf"kZd fcØh esa] ,d

nqdkunkj viuh phtsa 50% NwV ij csprk gSA mlh ds vafre

lIrkg esa og 40% dh vfrfjDr NwV Hkh nsrk gSA rnuqlkj

;fn ,d deht dk vkjfEHkd ewY; :i;s x jgk gks] rks

vafre lIrkg esa og fdrus :i;s gks tk,xk ?
(a) 90% of x (b) 70% of x
(c) 30% of x (d) 10% of x

148. Ramesh bought 10 cycles for Rs. 500 each.
He spent Rs. 2,000 on them and sold five of
them for Rs. 750 each and the remaining for
Rs. 550 each. Then the total gain or loss %
is ?

jes'k 10 lkbfdy izR;sd :i;s 500 dh nj ls [kjhnrk gSA

og bu ij :i;s 2,000 [kpZ djrk gS vkSj og buesa ls ik¡p

lkbfdysa :i;s 750 izR;sd dh nj ls csp nsrk gS vkSj 'ks"k

dks :i;s 550 izR;sd dh nj ls csp nsrk gSA rks mldk dqy

ykHk ;k gkfu % D;k gS ?

(a) Gain of 8
1

3
% (b) Loss of 8

1

3
%

(c) Gain of 7
2

3
% (d) Loss of 7

1

7
%
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149. The Banker's discount on a bill due 6
months hence at 16% per annum is Rs. 216.
The true discount is ?

,d fcy ij 6 eghus ds fy, 16% okf"kZd nj ls egktuh
cV~Vk :i;s 216 gSA rks 'kq¼ cV~Vk D;k gS ?
(a) Rs. 212 (b) Rs. 180
(c) Rs. 210 (d) Rs. 200

150. The cost manufacture of a tape recorder is
Rs. 1,500. The manufacturer fixes the
marked price 20% above the cost of
manufacture and allows a discount in such
a way as to get a profit of 8%. The rate of
discount is ?

,d VsifjdksZMj dh fuekZ.k ykxr :i;s 1,500 gSA cukus
okyk bldk ewY; blds fuekZ.k ykxr ls 20% vf/d
vafdr djrk gS vkSj ,d NwV iznku djrk gS rkfd mls 8%

dk ykHk gks ldsA NwV nj D;k gS ?
(a) 12% (b) 8%
(c) 20% (d) 10%
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